

**LIST OF AUCTION OF VEHICLES LYING IN STATE WARE HOUSE, SUKKUR
TO BE HELD ON 11.08.2025 , 20.08.2025 AND 27.08.2025 CUSTOMS OFFICE SUKKUR**

S.#	Lot No.	Description of Vehicles	Quantity
1	121/2024	Yamaha Heavy Motorcycle, Chassis No.JYA2WEE0XNA021450, Model-2002 & Engine Capacity 1300 CC	One Unit
2	.07/2023	Daihatsu Mira Car, No.BGV-746, Chassis No.LA300S-1041378, Model-2013 and Engine Capacity 650 CC	One Unit
3	104/2024	Toyota Crown Car, No.LOD-2179, (Lahore), Chassis No.CLS141-0007914, Model-1983, & Engine Capacity 2400 CC	One Unit
4	185/2024	Honda Acord Hybrid Car No.AUZ-100, Chassis No.CR6-1000680, Model-2013, 2345 CC	One Unit
5	16/2025	Suzuki Alto Car No.BSW-729 (Sindh), Chassis No.HA36V-125654 Model-2017 and Engine Capacity 650 CC	One Unit
6	27/2025	Daihatsu Mira car No.BFY-524 (Sindh), Chassis No.LA300S-1326313 Model-2015 and Engine Capacity 650 CC	One Unit
7	61/2025	Toyota Vitz car No.AWG-233 (Sindh), Chassis No.SCP90-0023065 Model-2006 and engine capacity 990 cc	One Unit
8	208/2024	Toyota C-HR Car No.BLJ-831 (Hybrid), Chassis No.ZYX10-2142650, Model-2018, HP-1790 CC	One Unit
9	222/2024	Suzuki Alto Car No.BQU-316 (Sindh), Chassis No.HA36S-275348 Model-2016 and Engine Capacity 660 CC	One Unit
10	224/2024	Suzuki Alto Car No.BMD-667, Chassis No.HA36S-238609, Model-2015, HP-660 CC	One Unit
11	19/2025	Toyota Vitz Car No.BSE-448 (Sindh), Chassis No.NHP130-2022092 Model-2017 and Engine Capacity 1490 CC	One Unit
12	94/2025	Toyota Fielder car No.AGD-110, Chassis No.NZE121-0259175 Model-2003 Engine Capacity 1494 cc	One Unit
13	59/2025	Toyota Fielder Car No.BHP-082 (Sindh), Chassis No.NKE165-7029142 Model-2014 and Engine Capacity 1490 CC	One Unit
14	110/2023	Suzuki Swift Car, Reg No.BDA-452, Chassis No.ZC71S-443579, Engine No.K-128 Model-2015 and Engine Capacity 1295 CC.	One Unit
15	200/2025	Suzuki Alto car, Registration No.BHU-913 (Sindh), Chassis No.HA36S-218494 (physically), Model-2015 (as per seat belt) and Engine Capacity 660 CC, Silver Color	One unit
16	214/2024	Toyota Corolla Altis Grande Car bearing Reg No.BPT-334 (Sindh), Chassis No.MR053REH104513051, Engine No.1ZR-6645987 (as per produced Registration Card) & Model-2014 (as per Japanese website) and Engine Capacity 1598 CC, White Color	One Unit
17	105/2025	Toyota LEXUS car bearing registration No.BCT-200 (Sindh), Chassis No.ANF10-2010842 (physically), Model-2009 (as per Japanese website) and Engine Capacity 2362 CC, White Color	One Unit
18	226/2024	Daihatsu Mira Car bearing Reg No.BHW-302, Chassis No.LA300S-1025543, Model-2011, HP-650 CC	One Unit

**LIST OF AUCTION OF MISC: ITEMS LYING IN STATE WARE HOUSE, SUKKUR
TO BE HELD ON 11.08.2025 , 20.08.2025 AND 27.08.2025 CUSTOMS OFFICE SUKKUR**

S.#	Lot No.	Description of Goods	Quantity
		ZHOOGUO HEBEL Brake Shoe Lain Gan Wa (Net Weight 0.12 Gram)	01 Cartons Containing 200 Boxes = each box of 02 pcs =Total 400 Pcs = (Total Gross Weight 2.400 Grams
		Grank Shaft Kit NTR Trademark 272076 F/o	03 Bundles each of 02 Pcs =Total 06 Pcs = each pcs of 13.52 Kgs
		Delivery Valve NTR Gold Seal Auto Miser F/o	01 Cartons Containing 40 Boxes = Total 400 Pcs
		Hong Beng Plunger, SD 1105 F/o	03 Bundles Containing 06 Cartons =each Carton of 10 Pcs = Total 60 Pcs and Total Gross Weight 64.800 Kgs.
		Gas Kit Of Vehicle	01 Cartons of 100 Pcs Total Gross Weight = 1.600 Kgs.
		NTR Fuel Pump Assembly F/o	02 Bundles Containing 04 Cartons Each Carton of 10 Pcs = 40 Pcs
		Rocker Arm Assy F/o Model 195 (Made in China)	04 Cartons = each Cartons of 30 Pcs = Total 120 Pcs
		Water Body F/o	01 Bundles Containing 02 Cartons each Carton of 06 Pcs = Total 12 Pcs and Total Weight = 31.92 Kgs.
		Wire Cable (White Color) F/o	01 Bundles Containing 02 Bora each Bora Contains 500 Pcs Total 1000 Pcs and Total Gross Weight
		Garari F/o	30 Pcs = Total Gross Weight = 31.800 Kgs
		Tri-Glound Iron Padlock Siz 63 mm (Made in China)	02 Cartons = each Cartons 12 Boxes =each box of 06 Pcs - Total 144 Pcs and Total Weight 6.624 Kgs.
		Tri-Glound Iron padlock Size .50 mm (Made In China)	05 Cartons=each Cartons 20 Boxes = each box 06 pcs = Total 600 Pcs and Total Weight = 14.400 Kgs.

1	163/2020	G.N Glamour Nail Polish (Empty Bottle of 0.04 Gram) (Made in China)	03 Cartons = each Cartons of 40 Boxes = each Box of 12 Pcs Total 1440 Pcs and Total Gross Weight 5.76 Kgs.
		G.N Glamour Nail Polish (Empty Bottle of 0.04 Gram) (Made in China)	10 Cartons = each Carton of 40 Boxes = each box of 12 Pcs Total 4800 Pcs and Total Weight =19.200 Kgs.
		Dinglong Professional Hair Clipper Model RF-609 Shaving Machine Made in PRC/China	05 Cartons = each Carton of 40 Pcs = Total 200 Pcs
		Dingling Electric Appliance (Model RF-609) Shaving Machine Made in PRC/China	03 Bundles = each bundles of 06 Cartons = Total 140 Pcs and Total Gross Weight = 9.792 Kgs.
		Caution NQA ISO 9001 ROHS LED Light Strip (Made in China)	08 Bundles = each bundles of 06 Cartons = Total 1600 Pcs =each Pcs of 14 Grams Total Gross Weight = 22.400 Kgs.
		KINGWA Smart Battery Chargers F/o	01 Bundles = each bundles of 02 Cartons = each Carton of 50 Pcs Total 100 Pcs = each Pcs of 0.032 Kgs.
		BOVI Classic Leather Gents Purse (Made in China)	05 Bundle each Carton of 600 Pcs Total 3000 Pcs = each Pcs Total 100 Pcs, each Pcs of 0.032 Grams Total Weight=3.200 Kg
		New Best Lighting F/o	11 Bora = each Bora of 06 Cartons = each Carton of 60 Pcs = Total 3960 Pcs, each Pcs of 0.012 Grams Total Weight=47.52 Kg
		Christmas Light Decoration (Made in China)	06 Bora = each Bora of 06 Cartons = each Carton of 100 Pcs Total 3600 Pcs = Total Gross Weight =28.800
		New Best Lighting Accessories F/o	11 Bundles = each Bundle of 03 Cartons = each Carton of 100 Pcs = Total 3300 Pcs = Total Gross Weight = 26.400 Kgs.
		New Best Lighting F/o	32 Bora = each Bora of 06 Cartons = each Carton of 200 Pcs
		New Best Lighting F/o	02 Bora = each Bora of 04 Cartons = each Carton of 200 Pcs Total 1600 Pcs =each pcs of 0.04 Grams Total Gross Weight = 6.400
		RUUD BULD Energy Saving 1.5 Watts Code = E-27 (Made in China)	04 Bundles = each Bundle of 03 Carton each Carton of 192 Pcs = Total 2300 Pcs
		ZTC Lighting LED F/o	04 Budles = each bundle of 03 Cartons = each Carton of 100 Pcs = Total 1200 Pcs = Total Gross Weight = 12 Kgs.
		ZTC Lighting (Blub) Power 3 Watts (Made in China)	03 Bundles =each bundles of 03 Carton each Carton of 50 Pcs = Total 450 Pcs = Total Gross Weight =4.500 Kgs.
		LED Strips ZTC Lighting (Made in China)	02 Cartons = each Carton of 50 Pcs = Total 450 Pcs =Total 100 Pcs each Pcs of 0.16 Grams = Total Gross Weight 1.600 Kgs.
2	129/2024	Samsung Crystal UHD	01 No
		Gasoline Generator F/o Power Moel-4000 Meas 72.5X46.5X45 CM Net weight 45 Kgs	01 No
		Tile Border Patti	09 Cartons each carton 62 Tile Patti Total 558 Tile Patti Total 09 Carton 13.392 Sqm
		Pana Motor Oil F/o	01 Carton = 06 Cane each 04 Liters Total 24 Liters
		Motor Cycle Kick	07 Carton each of 30 Pcs Total 210 Pcs each carton weight 21 Kgs
		Plastic Shopping Bags	07 Bags each of 25 Kgs Total 175 Kgs
		Tarpa F/o	Total weight 20 Kgs
		Parachute Cloth	Total weight 40 Kgs
Air Master Assy F/o (Old & Useable)	06 Pcs		
3	168/2024	Tyres Different Brand and Size (old & used) LTV	15 Tyres
		Ladies Cloth Cut Pieces	05 Bundles, Total weight = 400 Kgs
4	143/2024	Tyres Size 8.25 R-16 (Made in China) (Old & Used)	08 Nos
		Tyres different brand & different size (Old & Used)	15 Nos
5	81/2024-B	Tyres different brand & different sizes (Old & Used)	20 Nos
6	201/2024	Long Shoes (Made in Iran)	15 Bora = 300 Pairs
		Plastic Shopping Bags F/o	05 Bora = 20 Bags each of 25 Kgs Total 500 Kgs
		Plastic Shopping Bags F/o	05 Bora = 20 Bags each of 25 Kgs Total 500 Kgs
7	67/2024	Parachute Cloth F/o	06 Bora Total weight 375 Kgs
		Cloth F/o	Total weight 110 Kgs
		Engine Hissa	01 Piece
		Clutch Plate	04 Pieces
		Axel	02 Nos
		AC Motor	04 Nos
		Tyres F/o (Old & Used) Size 195 R-15	04 Nos
		Electric Iron F/o	04 Nos
		Plastic Roll Small Size F/o	02 Bundles Total 06 Rolls Total weight 120 Kgs
		Baby Electric Four Wheel Cars (Made in India)	27 Cars each of weight 20 Kgs

8	87/2024	Circuit Board for CPU F/o	02 cartons each of 155 pieces and 2nd carton contains 700 pieces Total pieces 855 Carton
		Electric Wire (China)	50 Meters Total weight 80 Kgs
		Data Cable for Mobiles (China)	600 pieces each of weight 50 gm
		Machine Belt (Korean)	04 Bags Total 330 pieces Each of weight 500 gm
		Fridge Compressor (China)	17 Pieces (Each of 10 Kgs)
		Bearings for Motor (Japan)	80 Pieces (each of weight 500gm)
		Radiator Hose Pipe (China)	02 cartons Total 45 pieces each of weight 01 Kgs
		Steering Ruber (China)	40 pieces (each of weight 01 Kgs)
		Dash Board Polish (China)	02 cartons each of 24 pieces Total 48 pieces
		Mobile Glass Protector (China)	01 carton = 500 pieces
		Laptop Chargers (China)	02 cartons Total 100 pieces each of weight 500 gm
		I.C for Computers (China)	1460 Pieces (each of weight 50 gm)
		Regulator I.C (China)	02 cartons Total 8200 Pieces Each of weight 100 gm
9	89/2024	Parachute Cloth	03 Percels Total weight 129 Kgs
		Electric Stove Hot Plate (Chulla)	02 Cartons Total 24 Pcs Total weight 21 Kgs
		Electric Stove Hot Plate (Chulla)	01 Carton Total 22 Pcs Total weight 17 Kgs
10	205/2024	Ladies Cloth F/o	02 Bora Total weight 55 Kg
		Tyre different brand & size (Made in China)	02 Nos
11	203/2024	Seat Cover Cloth	01 Bundle Total weight 45 Kgs
		Bicycles F/o (Old & Used)	02 Pieces
12	195/2024	Ladies Cloth F/o	Total weight 214 Kgs
13	184/2024	Ladies / Gents Cloth F/o	04 Bundles Total weight 160 Kgs
		Blankets F/o (Old & Used)	01 Bora = 26 Pieces Total weight 70 Kgs
		Kaleen F/o	01 Bora = 08 Pieces Total 50 Kgs
14	171/2024	Ladies Cloth Cut Pieces F/o	04 Bundles Total weight 220 Kgs
15	164/2024	Tyres (Old & Used) Size R-195, R-15	02 Bundles = 04 Nos
		RAF Coffee and Juicer, Blender (Made in China)	68 Nos
		Ladies Cloth F/o	06 Bags = Total weight 270 Kgs
		Gents Cloth F/o	01 bag = Total weight 40 Kgs
16	152/2024	Decoration Flower F/o	02 Bags = 12 Kgs
		Ladies Cloth (Cut Piece) F/o	03 Bundles = Total weight 260 Kgs
		Gents Cloth (Cut pieces) F/o	08 Bora = Total weight 820 Kgs
		MNC Brand Juger / Shoes (Made in Taiwan) Diff. Size	Total 15 cartons each carton 12 Pairs Total 180 Pairs
17	87/2023	Super Star Blend Box Small Balls Brand Wizal (Made in China)	01 carton Total 288 Balls
18	91/2024	Sulphur 80% WDG (Made in India)	1920 Bags Total Gross weight = 48000 Kgs
19	164/2025	Sulphur 80% WDG (Made in India)	960 Bags Total Gross Weight = 48000 Kgs
		Slightly used tyres different size F/o	110 bundles = 491 Nos
		Balance Rod F/o	38 pieces
		Rear Drum Shoe Plate F/o for Hiace Van	04 pieces
		Engine Hozing F/o for Hiace van	30 pieces
		Rear Drum Plate F/o for hiace van	13 pieces
		Rear wheel Hub F/o Wagon for Hiace van	21 pieces
		Engine Sluff F/o	08 pieces
		Filter Cup F/o	16 pieces
		Engine Distributor F/o	10 pieces
		Engine Fry wheel F/o	01 piece
		Engine Fan F/o	07 pieces
		Water Body F/o	03 pieces
		Ejector throtter body 3Y Engine F/o	03 pieces
Balance Rod Sparkit F/o	15 pieces		
Steering Box F/o for Hiace van	01 piece		
Engine for Hiace van	05 Nos		
20	90/2025	Aurcole Spark Plug Products High Quality Model A7Tc (China)	10 parcel Total 20 cartons
		Chain Lock Model-530 (Made in China)	31 parcel Total 1450 pieces
		Motor Cycle Chain Model 420 (Made in China)	09 parcels Total 663 pieces
21	217/2024	Plastic Shopping Bags F/o	02 bags each of 25 Kgs Total 50 Kgs
22	231/2021-A	Different brand tyres & different size	08 Nos
23	373/2021	Tyres different brand & size F/o	30 Nos
24	199/2022	Tyres different brand & different size F/o	24 Nos
25	246/2021	Tyres different brand & size F/o	83 Nos
26	249/2021	Tyres different brand & size F/o	02 Nos
27	326/2021	Tyres different brand & size F/o	78 Nos
28	328/2021	Tyres different brand & size F/o	76 Nos
29	337/2021	Tyres different brand & size F/o	175 Nos
30	345/2021	Tyres different brand & size F/o	32 Nos
31	357/2021	Tyres different brand & size F/o	24 Nos
32	374/2021	Tyres different brand & size F/o	20 Nos
33	380/2021	Tyres different brand & size F/o	30 Nos
34	.10/2022	Tyres different brand & size F/o	04 Nos
35	18/2022	Tyres different brand & size F/o	107 Nos
36	74/2022	Tyres different brand & size F/o	12 Nos

37	115/2022	Tyres different brand & size F/o	100 Nos
38	155/2022	Tyres different brand & size F/o	28 Nos
LIST OF AUCTION OF PERISHABLE ITEMS LYING IN STATE WARE HOUSE, SUKKUR TO BE HELD ON 11.08.2025 ,20.8.2025 AND 27.08.2025 CUSTOMS OFFICE SUKKUR			
S.#	Lot No.	Description of Goods	Quantity
1	21/2025	Paddy (local)	30 bags each of 30 kg, Total weight 900 kg
2	33/2025	CORN	45 bags each of 50 kg, Total weight 2250 kg
3	136/2025	Dairy Fresh brand Skimmed Milk Powder (Made in Iran)	15 bags, each of 25 kg, total weight 375 kgs
		Chalta brand Skimmed Milk Powder (Made in Iran)	03 bags, each of 25 kg, total weight 75 kg
		Sephan Speedy Motor Oil (Made in Iran)	17 canes each of 20 liters total 340 liters
		Khama cream (dinkel) (Made in Iran)	Total 24 cartons = 480 pieces
4	216/2024	Almond without Shell F/o	02 Bora Total weight 45 Kgs
		SNICKERS Checkpeph ill Prod: 04.07.2024 Exp: 02.04.2025	03 cartons = 15 packets each packet 48 pieces one packet lose Total 710 pieces
		Rotari Nougat & Caramel with Milk Chocolate (Made in Iran) Prod: 05.10.2024 Exp: 05.10.2025	01 Bora = 03 cartons each of 06 Boxes Total 18 boxes each box 24 pieces Total 432 pieces each pieces 50 grams
		Spark Coconut Bar (Made in Iran) Prod: 22.07.2024 Exp: 21.07.2025	01 bora = 02 cartons each carton carton 08 boxes Total 16 boxes each box 30 pieces Total 480 pieces each box weight 600 gm
		Mini Mix Shirin Asal (Made in Iran) Prod: 04.04.2024 Exp: 03.10.2025	01 Bora = 02 cartons each carton 06 boxes Total 12 cartons each box 100 pieces Total 1200 pieces each box 850 gm
		Nani Cereals Chocolate (Made in Iran) Exp: 05.03.2026	14 cartons
		Vigos Unforgettable Chocolate Tastes (made in Iran) Exp: 03.10.2025	01 carton = 05 packets each packet 1000 grams
		Fruit Chewy Dragees Mentos Toffee (Iran) Exp: 07.09.2025	03 cartons
		NESCAFE Gold (Made in Spain) Prod: 13.03.2024 Exp: 04.09.2025	02 carton = 24 pieces
		Cashew Nut (Kajoo)	06 Bags = 12 Tins, Total Gross weight 130 Kgs
5	240/2024	Black Tea (Made in Kenya)	12 Bags = Total 880 Kgs
6	104/2025	SABIK Linear Low Density Polyethylene (LLDPE) (Made in Saudi Arabia) Grade 119ZJ, Mfg: 06/01/2025	400 bags =10000 Kgs
7	68/2025	Tatifeek Garlic Shampoo (Made in Iran) Prod dt: 2024 Exp dt: 2027	01 bora contains 10 cartons cartons each of 12 bottle total 120 bottles 01 carton damage / loosed, each bottle 400 ml
		Rio Biscuit (Made in Iran) different flavor Prod dt: 01.12.2024 Exp dt: 01.12.2025	16 cartons each of 24 pieces total 384 pieces 01 carton damage / loose
		Rand Biscuit (Made in Iran) different flavor Prod dt: 01.12.2024 Exp dt: 01.12.2025	04 cartons each of 40 pieces total 160 pieces
		Caramel Plus Advin Toffee / Chocolate (Made in Iran) Prod dt: 18.12.2024 Exp dt: 18.06.2026	02 Bora each of 08 carton Total 16 carton each carton 08 packets total 128 packets each of 750 grams
		Skimmed Milk Powder (Made in Iran) Prod dt: 28.11.2024 Exp dt: 28.11.2026	03 bora each of 02 bags total 06 bags each of 25 kgs Total 150 kgs
		Skimmed Milk Powder (Made in Iran) Prod dt: 28.11.2024 Exp dt: 28.11.2026	05 bora each of 02 bags Total 10 bags each of 25 kgs total 250 kgs
		Lip Tints (Lip Glue) (Made in Iran)	18 packets each of 24 sticks total 432 sticks
		Nude Magic 24K Lip Glue F/o	08 packets each of 24 sticks total 192 sticks
		Glitter Lip Glue F/o	05 packets each of 24 sticks total 120 sticks
		Fruit Lips F/o Lip Oil	04 packets each of 24 stick total 96 sticks
Lip Maximizer F/o	18 packets each of 24 stick total 432 sticks		
8	122/2025	DAP Fertilizer (FFC)	50 bags each of 50 kg total weight 2500 kgs
		Black Tea F/o	41 bags each bag of 50 kgs total weight 2050 Kgs
9	141/2025	Kallah Brand Skimmed Milk Powder (Made in Iran)	07 bags each of 25 kgs, Total weight 175 Kgs
		Mineral grease (Made in Iran)	01 carton, 12 box, each box weight 07 kg
		Sephan Speedy Motor Oil (Made in Iran)	03 canes each of 20 liters, 01 bottle 04 liters, Total 64 liters
10	142/2025	Khazra brand Skimmed Milk Powder (Made in Iran)	30 bags, each of 25 kgs, Total weight 750 kg
		Montra brand Skimmed Milk Powder (Made in Iran)	25 bags, each of 25 kg, total weight 625 kgs
		Sephan Speedy Motor Oil (Made in Iran)	02 canes each of 20 liters = 40 liters 03 bottles each of 04 liters 12 liters Total 52 liters
		Deliza Milk Cream (Made in Iran)	44 cartons each of 24 pieces total = 1056 pieces
		010 Milk Cream (Made in Iran)	06 cartons each contains 24 pieces Total = 144 pieces
		AVE Hair Care Shampoo	40 pieces, 05 leaked each of 750 ML
11	158/2025	California Almond Shelled F/o	50 cartons Total 1134 kg
12	172/2025	Speedy Mobil Oil F/o	05 Jericans each of 20 liters = 100 liters
		Deliza cream (Made in Iran) Prod dt: 02.2025 Exp dt: 10.2025	20 cartons each carton of 24 pieces Total 480 pieces each piece of 200 ML and each piece of 200 grams
		OIO Cream (Made in Iran) Prod dt: 02.2025 Exp dt: 10.2025	08 cartons total 192 pieces
		ARKA Golchin Laban Sephan company Skimmed Milk Powder (Instant) (Made in Iran)	16 bags each of 25 kgs, total weight 400 kgs

13	194/2025	Nescafe Classic Coffee (Made in Indonesia)	20 packets Total 20 packets = 1440 sachet/pieces cartons = 360 pieces/sachet
		Nutella Chocolate F/o Prod dt: 17.12.2024 Exp dt: 17.12.2025	15 pieces of 350 grams
14	207/2025	Safa Kam Instant Dry Yeast (Made in Iran)	195 bags each bag of 10 kgs = Total weight 1950 kgs
		Sephan Speedy Motor Oil (Made in Iran)	19 Jericans = Total 19 Jericans = 380 liters
		Chibo UHT Cream (Made in Iran)	47 pieces
		F/o Monster Energy Drink	94 pieces, each piece of 500 ml
15	208/2025	Nabmayeh Instant Dry Yeast F/o	149 bags = 1490 kgs
		Pistachio F/o	04 bags total weight 174 kgs
		Kajoo F/o Prod dt: 09/2023 Exp dt:09/2025	02 bags each of 04 tin Total 08 tin total weight 86 kgs
		Ellachi F/o Prod dt: 09/2024 Exp dt: 08/2025	01 carton total weight 13 kg
		Chalta Skimmed Milk Powder (Made in Iran) Exp dt: 20.01.2027	10 bags each of 25 kgs Total weight 250 kgs
		Lash water proof Mascara (Made in Indonesia) Exp dt: 02.08.2025	01 carton Total 1080 pieces
		KMES Flasc Lash Effect Mascara Professional Make up (China) Exp dt: 01.08.2025	30 box each box of 24 pieces total 720 pieces
		Super Curl Black Mascara (Made in China) Exp dt: 04.07.2025	02 box each box 24 pieces total 48 pieces
		KMES Max Mascara (Made in China) Exp dt: 02.08.2025	09 box each box 24 pieces Total 216 pieces
		4D Mascara (Made in China) Exp dt: 01.08.2025	02 box each of 24 pieces Total 48 pieces
		KMES Water Proof Mascara (Made in China) Exp dt:01.08.2025	02 box each of 24 pieces Total 48 pieces
		4D Sonic Lash Macara (Made in China) Exp dt: 19.07.2025	01 carton 45 box each box 24 pieces total 1080 pieces
		KMES Mascara (Made in China) Exp dt: 04.07.2025	11 box each box 24 pieces Total 264 pieces
		4D New Sonic Lash Macara (Made in China) Exp dt: 19.07.2025	06 box each box 24 pieces total 144 pieces
		KMEC Mascara (Made in China) Exp dt: 19.07.2025	11 box each box 24 pieces Total 264 pieces
		KMEC Mascara (Made in China) Exp dt: 04.07.2025	17 box each box 24 pieces total 408 pieces
		KMEC Mascara (Made in China) Exp dt: 04.07.2025	04 cartons = total 1680 pieces
		4D New Sonic Lash Macara (Made in China) Exp dt: 19.07.2025	01 carton = 45 box = Total 1080 pieces
		Loreal Paris Elvive Hydra Shampoo (Hialurónico) (Mexico) Exp dt: 06/2025	04 carton = 204 bottles each bottle 680 ML
17	212/2025	Instant Skimmed Milk Powder (Made in Iran)	20 bags each of 25 kgs Total weight 500 kgs
18	224/2025	Deliza cream (Made in Iran) Exp dt: 22.03.2026	120 cartons = 2880 pieces
19	243/2025	Romantic Rain brand 5D Lip Gloss (Made in China) Exp dt:06/2025	Total 576 pieces, each of weight 100 ml
		Instant brand Skimmed Milk Powder (Made in Iran)	01 bag, weight 25 kg
20	234/2025	Chocolate Toffees, Brand Lalai Made in Iran Exp. 02.08.2026	02 Cartons = 150 Kgs
		Pistachio without Shell ASMAR Brand (F/O).	02 Cartons = 150 Kgs
		Chocolates Dream Apple Centre Filled Milk with Apple Jam, Shirin Asal Brand, Prod. 22.02.2025 Exp. 21.08.2026, Made in Iran	02 CP Bundles = 108 Packets =2592 Pieces = 70 Kgs
		Cardamom (Small Ellachi) Brand Name Emprior Akbar (India)	01 Carton = 40 Packets = 40 Kgs (Net)
		Lipstick Highlight Contour F/o	02 Cartons = 47 Packets
		Lip Gloss Peach Party, Brand Miss Corina (F/O)	60 Packets
21	214/2025	Lady Finger, Brand East-West, Seed Intern, Saloni F-1, Made in Thailand	14 Cartons, each carton contains 12 Boxes, 1950 Kgs.
		Bitter Melan, East-West Seed Internal Saloni F-1, Made in Thailand	. 04 Cartons, each carton contains 12 Boxes
		Mann Gold Instant Skimmed Milk Powder (Foreign Origin)	47 Bags = 1175 Kgs
		Mann Gold Instant Skimmed Milk Powder (Foreign Origin)	20 Bags = 500 Kgs
22	189/2025	ARKA Mgol Skimmed Milk Powder (Made in Iran) Prod dt: 01.02.2025 & Exp Dt: 01.02.2027	298 bags 10 bags in damaged / loose condition = 7450 kgs
23	175/2025	Almonds without shell F/O 04 bags contains =258 Kgs (GW)	258 Kgs
24	166/2025	Kizran Skimmed Milk Powder (Made in Iran)	18 bags each of 25 kgs, Total weight 450 kgs
		Spark Coconut Bar (Made in Iran)	15 box Total 450 pieces
		Smile Peppermint Gum Flavored (Made in Iran)	08 box each box contains 18 pieces Total 144 pieces
		Deliza Dairy Cream (Made in Iran)	04 cartons Total 96 pieces
		Rani juice (Made in Iran)	02 crate, each of 24 pieces Total 48 pieces
25	152/2025	Skimmed Milk Powder AKRA Brand (Made in Iran)	50 Bags Total weight 1250 Kgs
		Skimmed Milk Powder AKRA Brand (Made in Iran)	50 Bags Total weight 1250 Kgs
26	111/2025	Chalta Farm Brand Skimmed Milk Powder (Made in Iran)	05 Bags = 125 Kgs
27	93/2025	Dairy Fresh Skimmed Milk Powder, Origin: Iran DOE: 03.02.2027	50 Bags/ Total: 1250 Kgs
		Zagshir Skimmed Milk Powder, Origin: Iran DOE: 15.11.2026	50 Bags/ Total: 1250 Kgs
		Khizara Skimmed Milk Powder, Origin: Iran DOE: 17.01.2027	50 Bags/ Total: 1250 Kgs